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Question Number : 1 Question Id : 68019114801 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

Online
Mandatory
20

20

80

Yes

0

1
680191376
Yes

null

LISTI LISTII
. . . - . - - .
A ® } { = [. |Neither surjective nor injective
[ ] L]
& .s g - g
B. — [ o II. |Surjective but not injective
-l \_»

C. IT1. |Injective but not surjective
i = ; i ® :

#
D. G—}—/"_’r. * IV |Injective and surjective
. s

Choose the correct answer from the options given below:

Options :

68019157461, A-IV. B-1I. C-III. D-I

68019157462, A-L. B-II. C-IV, D-III



68019157463, A-IV. B-1II. C-II. D-I

68019157464, A-IV. B-1II. C-I. D-II

Question Number : 1 Question Id : 68019114801 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019157461, A-IV. B-11. C-III. D-I

68019157462, A-L. B-II. C-IV. D-III

68019157463, A-IV. B-1II. C-II. D-I

68019157464, A-IV. B-1II. C-I. D-II

Question Number : 2 Question Id : 68019114802 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A college awarded 38 medals for cricket, 15 for tennis and 20 for football. If these
medals were bagged by a total of 58 students and only 3 students got medals for all
the three games. then how many students recerved medals for exactly two of the
three games?

Options :

68019157465. 9
68019157466. 18
68019157467. 12

68019157468. 6

Question Number : 2 Question Id : 68019114802 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U DIad A fohdoe & feru 38. 29 & iU 15 quT Bedrd & forw 20 O 3T |
gl g% USd Pl 58 B! gRT I [T 7T aYl bad 3 B A g4l diH @al &
foTu e Ui [, di fba- ®E1 4 dF Wdl | 9 did &l § dsd wid fbu 2

Options :

68019157465. 9

68019157466. 18

68019157467. 12

68019157468. 6



Question Number : 3 Question Id : 68019114803 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If o and P are the roots of ax” + bx + ¢ =0, then the value of
1 1

: =% 5 1s

(aw+b)"  (aPp+b)

Options :

1
b =2¢

68019157469. ¢

68019157470, (ac)”

68019157471. ¢

68019157472. ac

Question Number : 3 Question Id : 68019114803 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

_— 1 1
g al+bx+ec=0h dquipe.dl —+ FIOG:
s me (aa+b)  (aP+b) ¢

Options :

j
b -2c

68019157469, ¢~

68019157470.



b —2ac

{crc’}j

b —2¢
68019157471. c

)
b= -2ac

68019157472. ac

Question Number : 4 Question Id : 68019114804 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 2 3 4
5 6 7 8§ . ;
Let 4= . then determinant of 4 =
g 9 9 9
8 8 8§ 8§
Options :

68019157473. -1

68019157474. 0

68019157475. 1

68019157476. 72

Question Number : 4 Question Id : 68019114804 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 2 3 4]

trﬁ:a_) % z%‘.?ﬁafﬂwﬁm=

9 9
8 8 8 8

Options :

I
=t

68019157473.

68019157474. 0

68019157475. 1

68019157476. 72

Question Number : 5 Question Id : 68019114805 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In how many ways can we select four cards from an ordinary pack of playing cards
30 that two of them are of the same denomination and the remaining two are of
some other same denomination?

Options:
68019157477. 78
68019157478. 150

68019157479. 715

68019157480. 5616

Question Number : 5 Question Id : 68019114805 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

&1 Yo 4y O & Uil P U JIYRUI A= DI 151 I IR 1% & Ul Dl
?ﬁaﬁ?@@gﬁfwn ¢ 3 U3 UD &1 A & quI A9 &l [t e T
qH & 8l?

Options :

68019157477. 78

68019157478. 150

68019157479. 715

68019157480. 5616

Question Number : 6 Question Id : 68019114806 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

" % N
If the coefficient of x” and x® in the expansion of LE + %J are equal. then n s
Options :
68019157481. 56
68019157482. 55

68019157483. 45

68019157484 15

Question Number : 6 Question Id : 68019114806 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
W1

trﬁ:tzgj B PR B 7 U7 x5 & Ul aRTER &, dl n SRIER 6 -

Options :

J
o

68019157481. 5

- |
L

68019157482. °

68019157483. 45

68019157484. 15

Question Number : 7 Question Id : 68019114807 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The sum of all those terms of the arithmetic progression 2. 6. 10. 14, ....... . 598
which are not divisible by 3. 1s equal to

Options:
68019157485, 30300
68019157486. 30000

68019157487. 29400

68019157488. 30600

Question Number : 7 Question Id : 68019114807 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
TR 4ufl 2. 6, 10, 14, ....... . 598 & 3§ fqUIfSd 9 14 arat 91 Ul H1AR1 3:
Options:

68019157485, 30300

68019157486. 30000

68019157487. 29400

68019157488. 30600

Question Number : 8 Question Id : 68019114808 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

- " i . ~ A7 . -
The first two terms of a G.P. are x> and x”, respectively. If x*2 is the sixth term of

. 3 B
the same progression. then #- 1s equal to
Options :

68019157489. 16

68019157490. ©

68019157491. 36

68019157492. 25

Question Number : 8 Question Id : 68019114808 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



U% G.P. & YYH &l UG A x— TUI " § 1 TG 39 40l BT 561 9e x*2 8. dl
TR T :

Options :

68019157489. 16
68019157490. 9
68019157491. 36

68019157492, 25

Question Number : 9 Question Id : 68019114809 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Suppose L 1s the line joining the pomts (0. 0) and (1. 2). If a line parallel to L

g ) . . . .
meets the curve y = 2x° + 3x + 1 only at a single point P. then the point P 1s

Options :

L 3)
68019157493.[4~HJ

68019157494, (2. 15)

[ —1
68019157495, . 4

b

(.1 5
68019157496, . 4 16

Question Number : 9 Question Id : 68019114809 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

a1 b fagsit (0. 0) AT (1, 2) BT SIS AT W@ LTI TR DI @L S
JOHIR § Sl ab y = 232 + 3x + 1 Bl Had U ol 195 P R e g, dl fag P
g

Options :

33
68019157493, \4 & J

68019157494, (2. 15)

[ —1
68019157495, \ 4

S| e

[ 3 5
68019157496, . 4 16

Question Number : 10 Question Id : 68019114810 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

= ; ; pif o x ) -
A manufacturer can sell x items at a price of T | 5- P cach. The cost price of x

L ; (x ity i i i
items 1s T | =+500 |. The number of items he should sell to reach maximum profit
L 3 J

18
Options:

68019157497. 100
68019157498. 240

68019157499. 500



68019157500. 480

Question Number : 10 Question Id : 68019114810 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U [-Hldr x axgad ol 2 5—— W T P AT I 39 HHdl & | x TEISH BT

100 )

&0 el 2 T'L—:+iil{1:%'| SR aH AT T B & o1y 39 fasait axd gt
amqr

Options:

68019157497. 100

68019157498. 240

|
=
=

68019157499. :

68019157500. 480

Question Number : 11 Question Id : 68019114811 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

|
The value of j IugL.[l —~ I}:-{r 18
0 r

Options :

68019157501. 0



o8]

68019157502.

68019157503. 1

| ]

68019157504.

Question Number : 11 Question Id : 68019114811 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[
J- log,
0

Options:

= dx 17 RIS &:

\ X

68019157501. 0

k2

68019157502.

68019157503. 1

| )

68019157504.

Question Number : 12 Question Id : 68019114812 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
dy
d

If (1+cosx)———(y—3)sinx =0 and y (0) = 0, then the value of ; |r§ BE

Options :

68019157505. —3



68019157506. 3
68019157507. 9

68019157508. 6

Question Number : 12 Question Id : 68019114812 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
dv ; : -
afe (1 +msx}d—‘}—(;r—3]smx= 0 dUly {{}}={}%. GIR |{'%t  DHTHHA ©:
0 L)

Options :

68019157505, —3
68019157506. 3
68019157507. 9

68019157508. 6

Question Number : 13 Question Id : 68019114813 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a straight line passing through point P (3. —5) is such that its intercepted portion
between the co-ordinate axes 1s bisected at P, then the equation of the line 13

Options:

68019157509, 5x T 3y =30=0



68019157510, X =3y —30=0
68019157511, Sx =3y +30=0

68019157512, —>x—3y+30=0

Question Number : 13 Question Id : 68019114813 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe fig P (3. -5) I BRI ATa U X1 59 ISR © [ 9@ Hogia el
& &1 &1 YN P R Fafguiford gia1 &, df 59 a1 & e §:

Options :

68019157509, 5x T3y ~30=10

68019157510, 3x —3y—30=0

68019157511, Sx— 3y +30=0

68019157512, —>x—3y+30=0

Question Number : 14 Question Id : 68019114814 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. . . 2 3 . . -
The intercept on the line x =y by the circle x* + 3= — 2y = 0 13 AB. The equation of
the circle with AB as a diameter is

Options :



2

7
68019157513, X TV Tx+y=0

3

a
68019157514, X T3y —x—y=0

)

3
68019157515. X Ty —x+y=0

-

> 3
68019157516, X TV tx—y=0

Question Number : 14 Question Id : 68019114814 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Wlx=y R x> +)7? —&;—UWWWSH@EAB%IQHWW
o AB 3. 1

Options :

7

>
68019157513, X T3 Tx+y=0

2

3
68019157514, X Ty —x—-y=0

3

a
68019157515. X +y —x+y=0

-

3 )
68019157516. X T3 Tx—y=0

Question Number : 15 Question Id : 68019114815 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



If the foot of the perpendicular from the pomt (0. 0. 0) on the line

i Sak e Gk ’ i
s . T is (a. b. ¢). then a? + b* + &% is
J 2

Options :

68019157517. 34
68019157518. 14
68019157519. 24

68019157520. 44

Question Number : 15 Question Id : 68019114815 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

T Yy X2 :J'::E - ::3 R §(0.0.0) ISR T AT FTUE (a. b. o) ©.
3 Fan

da? + b2+ 2 W T
Options :

68019157517. 34

68019157518. 14

| )
=

68019157519.

68019157520. 44

Question Number : 16 Question Id : 68019114816 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
If the vectors 4B =13/+8% and 4C=5;-2 j+6k are the sides of a triangle 4BC.

then the length of the median through A4 1s

Options :

68019157521, v33

68019157522, /66

o,

68019157523, /356

68019157524, V72

Question Number : 16 Question Id : 68019114816 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U WY 4B = 37484 TU AC=5i-2j+6k UP FYT ABC BT YSUE. M4 Y
AT (median) G| ?ITYI'IEF %:

Options :

68019157521, v33

68019157522, /66

£,

68019157523, V56

68019157524, V72

Question Number : 17 Question Id : 68019114817 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
d=6i+2]—Mk, b=3i +(3—}h2)_}'+2ﬁﬁt el
= 2; + (] + i;); = 3,&_ are three vectors such that C? = 31.;' and b 18
perpendicular to E then (4. Ay, 43) 18
Options :
(9,21, 1

68019157525. * 3)

(9,3,
68019157526. ! 3

1
fad | =
T || =

L | —

68019157527. °

68019157528, (3. 3. 1)

Question Number : 17 Question Id : 68019114817 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gt dm e d=6i+2j-Mk, b=31+(3-4, ) j+2k qur

¢=2i+(14+4)] -3k SAUPRE [ a=3c 3. 9UT b . W ¢ S ead g,
(g hos 1) B

Options :

8,81 |
68019157525. 37

(5,5 -2
68019157526. ! 3)

68019157527.



I
[
T || =
"
|| =i

68019157528, (3. 3. 1)

Question Number : 18 Question Id : 68019114818 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let xq, X7, X3, X4, X5 be observations with mean m and standard deviation 5. Then.

which of the following statements are correct:

A. Mean of the observations x; +k x; +kxg +kxy +h xs Hhism + 5k

B. Mean of the observations kxy. kx,. kxs, kxy. kxs 1s fon.

C. The standard deviation of the observations x; + k. x, + ko xy +hoxgs +hoxg +
kiss.

D. The standard deviation of the observations ky;. kv,. kxs. k. ks is &5,

Choose the correct answer from the options given below :

Options :
68019157529, 4. B.C. D
68019157530, A- C only

68019157531, B. D only

68019157532, B. C only

Question Number : 18 Question Id : 68019114818 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT YOI x4, X5, X3, Xy, X5 BT HIH m 9UT HHESD [d9a4 5 7 | dl FafafEa
S H Y DH Y HYF TR 82

A UEUT X, +kxy + ko x3 + ko xy + k. xs + kBT HIH m + 5k B
B. WU Jox,, koo, ko, by, o BT AT kom B

C. U&UM x; + k. x5 + k. x5 + k. x4 + k. x5 + k BT A dd0 5 B
D. V&I kx,. k. ks koxy, boes @1 HIFS [d=eH ks B

2 Ry R S s SR IR

Options :

68019157529. A.B.C.D

68019157530, POT A, C
68019157531, PO B. D

68019157532, AW B. C

Question Number : 19 Question Id : 68019114819 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. . 2 g | i)
Let the area of the region enclosed between the two circles x* +3~=a" and

2 ’) 7 m i 3 o : i
(x—a) "+ vy =a be ?(43' - 3\."'3J sq. units for some a = 2. [t a 15 a root

of ¥> = 3% —6x + 8 = 0. then

Options :
68019157533. m> = a"

68019157534, m> = a-

68019157535, m™* = a*



68019157536. m- = a-

Question Number : 19 Question Id : 68019114819 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
ﬁ@?ﬁ P+t =a? Tl (x —a)l+ 1P = TR ST BT &A% d [PHl o= 2P
fere ?(4;: ~3V3) T gTg 81 AG x*—3x2—6x+8=0 B TP Yl a &. I

Options :

68019157533. m~ = a"
68019157534, m* = a
68019157535. m™ = a

68019157536. m" = a-

Question Number : 20 Question Id : 68019114820 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
1 3 f -_
Suppose ;rrz }'{111}5 =0, where f(x) 1s continuously differentiable function
f"(x) f'(x
with f'(x)#0 ¥V x € R and satisfies f(0)=1 and '(0)=4. If f(x) = &+ L.
where . 1t € . then the value of 3%+p? is
Options :

68019157537. 2

68019157538. 4



68019157539. &

68019157540. 16

Question Number : 20 Question Id : 68019114820 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T iferd ::H :: t]] ~0 8. 98T f£(x) Gad AaPHa-1d Bad g 3R

F(x)#0 ¥ xeR EAULL(0)=1 3R £'(0)=4 BT Gy Hal ¢
afg Flx) = F+ U ©. STal . neER G| T GARICES
Options :

| ]

68019157537.

68019157538. 4

68019157539. 8§

68019157540. 16
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Number of Questions : 10



Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
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Question Number : 21 Question Id : 68019114821 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 3 = e 3 3y 2
The equations ax“ +bx+a=0. (a. b € 5) and x —2x~ + 2x — 1 = 0 have two
common roots. Then the value of a + b 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 21 Question Id : 68019114821 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Wﬂﬁarl—bx—c;r:{}.{a.bER)WrE—JIE—EX—l=D$a3mﬁ'§ﬂﬁ
Sl dMa+bPIAASD

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 22 Question Id : 68019114822 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let A be a matrix satisfying 4> = 34 + 2] where A # nl, n€Z. If 42 + a4 + B = O,
then maximum value of ja + f 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 22 Question Id : 68019114822 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AT US 3HTGE 4 D (047 =34+ 218, 55T A< nl, neZ |
gfd 42+ 04 +BI=0.%. Tl o+ p| BT IFTH A © .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Number : 23 Question Id : 68019114823 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

An equilateral triangle is inscribed in the ellipse *_ 4 2 — | such that one of the
3

vertex of the triangle 1s (0. 1) and one of the altitude of the triangle 1s along the

y-axis. If A is the area of the equilateral triangle. Then 625A7 is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 23 Question Id : 68019114823 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U THaTg Ayw Mg £, 2 - | HSH ISR fid ¢ o Bryet o1 T 2
3

(0, 1) & G130 D1 U Wfiferes y- 2181 & SRR 31 S A GoaTg By @1
&A% &, 1 625A2 WER § .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 24 Question Id : 68019114824 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
3

The volume of the greatest cylinder that can be inseribed in a cone of height

&

and semi-vertical angle 45° 15
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 24 Question Id : 68019114824 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

S % qUT 3783 DIV 45° & XP & SATd a1 Pl HUHaH T §
T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 25 Question Id : 68019114825 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



. SN X S X
If the function f(x) 1s defined as f (_I') = I -+ € . Then

2

| —x

the value of l I s f (I) cdx 18 equal to
g Y- 2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 25 Question Id : 68019114825 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

] .
- SIN X Sin x
Rwwse. f(x)=[1+e™ ERIaRYT .

] — x? 2

lr’if(x) dx THF SRR T

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Number : 26 Question Id : 68019114826 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
2
1+y

A line touches the curve y =y (x) at a point (x. v) having slope z
L
(.1 -
where x> 0. If ¥(2) =1, y(3) = [—5 and ged {o. p} = 1. then the value of a +p
18
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 26 Question Id : 68019114826 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2
PEXTT =y (1) PR (v, ) TR T Bl 2 ot raoran ”_‘”2_ 3
1+ x
Glﬁx:m%ltri%y(b:i.y{3}=%mﬂgcd{a.[s} =18 d o+ pHTHAS

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



Question Number : 27 Question Id : 68019114827 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The equation of the base of an equilateral triangle 1s x + ¥ = 1 and the opposite
vertex has co-ordmates (—3. 2). The area of the triangle (in square units) 1s

represented by A4. then the value of /34 is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 27 Question Id : 68019114827 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U THEE AYd & YR ST THSIO x +y =1 § a1 9F Y & FHemie

(-3.2) 81 ufe 50 Brys o1 dorwd (@ 5P1s 1) 4 R ¥ T g, | /34
CARIC .

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 28 Question Id : 68019114828 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let R be the point (13, — 8. 10) and P(a. . 1) be the image of the point Q (5. 2. 1)
in the line x — 2 =3 — y =z +1. Then the square of the area of the triangle PQR 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 28 Question Id : 68019114828 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AR fag (13.- 8. 10) AU @I x—2=3 —y=z+1 @ Q (5, 2. 1) FI
Uife™ P(o. B. 2) B, I S PQR & &%d &I ¥l §

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 29 Question Id : 68019114829 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



A hospital conducts a free eye check-up drive at 3 different locations A. B and C of
a city. The number of people that came for test at A is thrice as much as that at B,
and number of people that came at B 1s same as that at C. The results show that 4%
population at A, 2% at B and 3% at C have poor eye-sight. If a person from the

city goes for an army job and is found to have poor eye-sight. and the probability
. . . P B )
that he is not from location C is 7 where g 1810 simplest form. then value of

(pt+ag)is -

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 29 Question Id : 68019114829 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U9 R dreg Ue U8 & 3 e WHT AL B, TUT ¢ R 3111 &l F:eb Sid ol
TATEH PRA1 ¢ Wi & 1T A W MY A1 @1 TR\, B W MY G bl e
&1 <fF 7T § aY1 B UR 31U ATl &1 TRe1 Ia-1 &l § fofa-l ¢ &R | R 78
Zid € 16 ATR 4%, B TR 2% YT C TR 3% S48 P 7ok FHOR ¢l TEx
TP G I1 B AB<] & [A4 STl & qUT ITB! FoR FHIR gl Sl 3, T
IS WH ¢ ¥ 7 §H B Wi | & S | WAaaa G AR, A (p + ) B
e

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 30 Question Id : 68019114830 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The number of pairs (x. v) satisfying the equations sin x + sin y = sin (x + v) and
x|+|y|l=1is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 30 Question Id : 68019114830 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

JHIBRT sin x + sin y=sm(x+y)dil|x|+|y|=1 Pl '-’:Iij,E H3- ard
gl (x.y) DI I E .

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Aptitude Test
SectionId: 680191288
Section Number : 3
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 50

Number of Questions to be attempted : 50

Section Marks : 200
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 680191378
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 31 Question Id : 68019114831 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a certamn word code. EXHAUST i1s written as CZFCSUR. How 1s NETWORK
written in that code ?

Options:

68019157551, LCVYQTI

68019157552, LGVYQTM

68019157553. LGRYMTI

68019157554, LCRYQTM

Question Number : 31 Question Id : 68019114831 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



P UP Uk HIS H EXHAUST Pl CZFCSUR {ERT SITdT § | NETWORK I
39 Bis T oy forar s

Options :

68019157551, LCVYQTI
68019157552, LGVYQTM

68019157553. LGRYMTI

68019157554, LCRYQTM

Question Number : 32 Question Id : 68019114832 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
In a code language. if "BRICK" 1s written as "CQJBL", then "CEMENT" 1s

Options:

68019157555. DDOFOS
68019157556. DDODOS
68019157557. DDNDOS

68019157558. DDNFOS

Question Number : 32 Question Id : 68019114832 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U% ¢ YN H gf¢ "BRICK" &1 "CQIBL" feRal ST 8. I "CEMENT" &I
ferar s

Options :
68019157555. DDOFOS
68019157556. DDODOS

68019157557. DDNDOS

68019157558. DDNFOS

Question Number : 33 Question Id : 68019114833 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

/N A

When the paper 1s folded 1n a given pattern and 1is cut at the end. Identify which
pattern is formed when the paper is unfold?

Options:

68019157550, [a 1\~ 3

68019157560, L= __=.*

68019157561.



68019157562, L

Question Number : 33 Question Id : 68019114833 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

/N A

SId U IS Bl 16U U UeH & 33U HISl Il 6. 31 H PIeT olldl § Ygdr
&3 & o1d ST e (3FwIe) fhar 9u 98 &1 91 Ued g4

Options :

68019157550, e\~ 3

68019157560, Le__=i+ =

68019157561.



68019157562, L

Question Number : 34 Question Id : 68019114834 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST I (Components/Material)) LIST II (Functions)
A |Cement 1. |Load Bearing
B. |Window II. | Tensile strength
C. |Foundation III. | Setting time
D. |Steel IV. |Glazing

Choose the correct answer from the options given below:
Options :

68019157563, A-I. B-IV. C-III. D-II

68019157564, A-L B-II. C-IIL. D-IV

68019157565, A-III. B-IV. C-1. D-II

68019157566, A-IV. B-1II. C-II. D-I

Question Number : 34 Question Id : 68019114834 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 11 =t 11 F fiaH &3

R 1 (T /AT = 10 (@1

A [diEe 1 |ars faaRa

B. | I |G Hotee (SR )
c. |fa I |8 ergH

D. |&a IV. |99 (ife)

i fGT U fd@edl O Tgl SR &1 99 D
Options :

68019157563, A-I. B-IV. C-III. D-II

68019157564, A-1. B-II. C-III. D-IV

68019157565, A-III. B-IV. C-1. D-II

68019157566, A-IV. B-1II. C-II. D-I

Question Number : 35 Question Id : 68019114835 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST I(struchture) LIST Il(places)
A |Humavun's Tomb L |Guarat
B. |Bibi Ka Magbara II. |New Dellu
C. |Hussain Doshi Gufa III. |Maharashtra
D. |Group of monuments, Mahabalipuram IV. | Tamilnadu

Choose the correct answer from the options given below:

Options :



68019157567, A-IL. B-IV. C-I. D-III

68019157568, A-L. B-III. C-II. D-IV

68019157569, A-IL. B-III. C-I. D-IV

68019157570, A-II. B-I. C-IV. D-III

Question Number : 35 Question Id : 68019114835 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 11 =t 11 F fiaH &3
__ 1@ T 11 (RIT)
A g9 @1 oHmay I [Torma
B. |ddl BT Hdal 1L |3 foeet
C. |g8H aI=il T 1. [AERIE
D. |¥IR®! &1 UHE. FeEc IV |afirerg

e fau Y famenl # ¥ Tl SR &1 997 o
Options :

68019157567, A-IL. B-IV. C-I. D-III
68019157568, A-IL. B-IIL. C-II. D-IV

68019157569, A-II. B-III. C-1. D-IV

68019157570, A-IL. B-I. C-IV, D-III

Question Number : 36 Question Id : 68019114836 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
A |Stairs I. |Kev stone
B. |Door II. |Toothing
C. |Arch I1I. [Jamb
D. |Brick work IV. |Tread

Choose the correct answer from the options given below:
Options :

68019157571, A-IV. B-III. C-I. D-II

68019157572, A-IL. B-I. C-IIL. D-IV

68019157573, A-L. B-IIL. C-IV, D-II

68019157574, A-IIL. B-IV. C-II. D-I

Question Number : 36 Question Id : 68019114836 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Yl 11 g1 11§ e &3
Tt 1 a1
A [ i AESIE]
B. [cara IL [2fE
C. [T 111 (S
D. |32 v |28
i feUu U fab el § U ol 3R &l 904 By

Options :



68019157571, A-IV. B-1II. C-I. D-II

68019157572, A-IL. B-I. C-IIL. D-IV

68019157573, A-L. B-IIIL. C-IV, D-II

68019157574, A-IIIL. B-IV. C-II. D-I

Question Number : 37 Question Id : 68019114837 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements :

Statement I : A partition wall is defined as an internal wall whose function is to
divide the space within the building.

Statement II : Partition wall could be load bearing or non-load bearing.

In the light of the above statements. choose the most appropriate answer from the
options given below:

Options :
68019157575. Both Statement I and Statement II are correct
68019157576. Both Statement I and Statement I are incorrect

68019157577. Statement I 1s correct but Statement II 1s incorrect

68019157578. Statement I 1s incorrect but Statement I 1s correct

Question Number : 37 Question Id : 68019114837 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

4 &1 PY Ry &

Y1 : Wiy fGaR & SiaRke® [GaR & w0 1 gy faear s
forge! far Yad & o< & ' &f fauifoid s gl

Eg:mﬁwﬁwmaﬁ:ﬂmﬁ—swﬁa{wqﬁmﬁuﬁﬂﬁ
|

SWRIdd DUl & 3l § A fou 7 fadbedi § T gduyl 3ugad Ik &1 99+
GiTE

Options :

68019157575, &Il BUF I R BUTII el o

68019157576, &IFl ®UF I 3R HY 11 7Ted ©

68019157577, PUT1TEI § fPg PUT 1 7Tad §

68019157578, PUT L TTEd & fbg U 11 TET ©

Question Number : 38 Question Id : 68019114838 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other 1s
labelled as Reason R :

Assertion A : Social integration at work place 18 necessary.

Reason R : There are many backward classes in society.

In the light of the above statements. choose the cerrect answer from the options
given below :

Options :

68019157579, Both A and R are true and R 1s the correct explanation of A



68019157580, Both A and R are true but R 1s NOT the correct explanation of A

68019157581. A iz true but R is false

68019157582. A 1s false but R 1s true

Question Number : 38 Question Id : 68019114838 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- &1 By ST T &: Ud &l SNy A Sifdhd fhar a1 § 3R g3 &1 BRUI
R $ =0 H 3ifdd frm mar g

SfUPYT A : T =T R GG THIH0 ATaTH 6|

PRI R : GAG H &5 [0S SN

SWRIGd Bl P 3faid J A4 (4T T8 fadpedl § ¥ gaul 3ugad 3R & 99+
GiTE

Options :

68019157579, Gl A 3R R 5! § 3R A 1 Jol ARATR T

63019157580, &I A 3R R Tl € fdi R, A &1 Hel TR 761 5

63019157581, A I [B-I R 3T |

63019157582, A 3T [BJRIA |

Question Number : 39 Question Id : 68019114839 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Primary colours are



Options :

68019157583, Red. Blue. Yellow
68019157584, Red. Green. Blue
68019157585, Red. Violet, Yellow

68019157586, Red. Green. Yellow

Question Number : 39 Question Id : 68019114839 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
oa I 8:

Options:

68019157583, CIICl. * I, dic

68019157584, TTCl. BT, AIdll

68019157585, CIIdl. &1, Uil

68019157586, <Tdl. BRI Tlall

Question Number : 40 Question Id : 68019114840 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The stairs kept in motion by a revolving drum is known as a



Options :

68019157587. Escalator
68019157588. Lift

68019157589. Elevator

68019157590, Revolving stairs

Question Number : 40 Question Id : 68019114840 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A dTel g4 gRI =Mierd R¥feal &l & =T 9 §HI a6

Options:

68019157587. E{Eai AR

68019157588, [¢TUE

68019157589. E{Ela X

630191575090, IXaTeaT wad (guf Hidh

Question Number : 41 Question Id : 68019114841 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following structure does not have a dome?



Options :

68019157591. Gol Gumbaz
68019157592, Avicii Arena
68019157593, St. Paul's Cathedral

68019157594, The Shard

Question Number : 41 Question Id : 68019114841 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e feu T iy e & 1ae (@) el &2

Options:
68019157591, ‘1€ [HIo
68019157592, ATl T

68019157593, H¢ TT BUFT

68019157594, 4l TS

Question Number : 42 Question Id : 68019114842 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Given below is the famous temple in India. Identify the style of temple architecture
adopted in the temple.

Options :

68019157595, Nagara
68019157596. Dravidian
68019157597, Vesara

68019157598. Orissan

Question Number : 42 Question Id : 68019114842 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I YRd 1 U Ul AfeR ewiar mar €1 iR # e v areg e #
It 1 UG B

Options:



68019157595, 1Y

68019157596. & ai% a-

68019157597, GUR[

68019157598, ST

Question Number : 43 Question Id : 68019114843 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST I(Plan) LIST [1(Building Name)

I. |Taj Mahal

II. |Qutub Minar, New Delhi

II1. |Matr: Mandir, Auroville

IV, |Sanchi Stupa

aloYelc

Choose the correct answer from the options given below:
Options :

68019157599, A-IV. B-1I. C-III. D-I

68019157600, A-II. B-III. C-IV. D-I



68019157601, A-IIL B-II. C-IV. D-I

68019157602, A-IV. B-III. C-II. D-I

Question Number : 43 Question Id : 68019114843 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Il 11 gl 11 § i &%
=l 1 @) H1 11 (Y BT 718)

Q|-

B. O I1. [Pge FAR, 73 e

C I [47q HfeR SiRifaa
O 9 -

D. IV. [t %™

feu Ty fgwed ¥ 3 6l SR &1 99 B

Options :

68019157599, A-IV. B-1I. C-III. D-I

68019157600, A-IL. B-III. C-IV. D-I

68019157601, A-IIL. B-II. C-IV. D-I

68019157602, A-IV. B-III. C-II. D-I



Question Number : 44 Question Id : 68019114844 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The botanical name of "MANGOQO" tree 1s

Options:

68019157603. Azadirachita Indica

68019157604, Mangifera Indica

68019157605. Delonux Indica

68019157606, Delonux Regia

Question Number : 44 Question Id : 68019114844 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
319 & US Bl gD I &:
Options :

68019157603, AU AT SSH

68019157604. H TR 2 ST

68019157605, S¢-ad 515

68019157606, S@-a=T Ifordl



Question Number : 45 Question Id : 68019114845 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Scientific study of human body measurements :

Options :

68019157607, Depth Perception

68019157608, Anthrology

68019157609, Axenometry

68019157610. Anthropometry

Question Number : 45 Question Id : 68019114845 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HFd YRR H194 &7 a9l (g -
Options :

68019157607, 16 STATTH (W& )

68019157608, H1d Sifde (a7

68019157609. an HeX

68019157610, A4 fifa (@Rmiteeh)



Question Number : 46 Question Id : 68019114846 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FAR. stands for

Options :

68019157611. Facade Area Ratio

68019157612. Floor Area Ratio

68019157613, Fire Accessible Ramp

68019157614. Fire Arch Ratio

Question Number : 46 Question Id : 68019114846 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FAR &1 HU -
Options :

68019157611. 58 aredr X2

68019157612. R E{i?q X

68019157613, PR UHEITaT 1Y

68019157614, T4 3 Skew



Question Number : 47 Question Id : 68019114847 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On an engineer scale. 1 cm = 10 m. Identify the representative fraction (R.F.)
Options :

68019157615. 1/100

68019157616. 1/10

68019157617. 1/1000

68019157618. 1/10000

Question Number : 47 Question Id : 68019114847 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U SHFIHED ol UR 1 em = 10 m 5. Al UidH{¥@ 3% (R.F.) 7d Br-
Options:

68019157615. 1/100

68019157616. 1/10

68019157617. 1/1000

68019157618. 1/10000

Question Number : 48 Question Id : 68019114848 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the iconic Landmark :

Options:

68019157619, Taipei 101

68019157620. One World Trade Center

68019157621, Sydney Opera House

68019157622. Shanghai World Financial Center

Question Number : 48 Question Id : 68019114848 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ot 1 (@dsHd) Bt ueaH o¥:

Options:



68019157619, 15U 101

68019157620, UP [d%d TR &%

68019157621, [HS1 HURT 13T

68019157622, TdTs G¢s WIS Uex

Question Number : 49 Question Id : 68019114849 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the name of the Landmark :

Options :

68019157623, Crystal Palace, London

68019157624, The Louvre, Paris

68019157625. German Pavilion for World exibition, Barcelona

68019157626. Vitra Design Museum. Basel



Question Number : 49 Question Id : 68019114849 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y[ (csHId) BT - aal

Options:

68019157623, I9Pecd Uaid, Tia

68019157624, Gl Alax, URE

68019157625. upeC ﬁﬁlﬂ:{wac—ém AR

68019157626, 191 [SolTe HfogH. i

Question Number : 50 Question Id : 68019114850 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Identify the famous Monument in the given picture.

Options :

68019157627. Chand Baoli

68019157628, Stepped Pyramid

68019157629, Golden Lily Pond

68019157630, Alravates-vara Temple

Question Number : 50 Question Id : 68019114850 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fau U o ¥ guiiis RS &l UgaH o

Options:



68019157627, dig E13{Id]

68019157628. s s (@i T fiRifers)

68019157629, TTica dicl Uis

68019157630, TAIddI-aRT Hfex

Question Number : 51 Question Id : 68019114851 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A man 1s facing towards East and turns through 45° anti clockwise, again 180°

YTOR

anticlockwise and than turns through 270° clockwise. In which direction 1s he
tacing now?

Options :

68019157631. South-East
68019157632. South-West
68019157633. South

68019157634, North-East

Question Number : 51 Question Id : 68019114851 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TS Afdd gd figa € ok vt ot fqufva femn 45> R g wrar g1 fom @
g1 I fquied [ 180° IR qUT q4=aTd 270° US1 $f (G H GH G161 3@
g fra fgan & sfimg@ 3

Options :

68019157631, SI&U-0d

68019157632, GI&U-UfZaH

68019157633, GI&I0l

68019157634, 51 E-Qﬁ

Question Number : 52 Question Id : 68019114852 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The lightness or darkness' of a colour 1s defined as :
Options :

68019157635. Hue

68019157636, Brightless

68019157637. Dullness

68019157638. Value

Question Number : 52 Question Id : 68019114852 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
el 3T BT TTERTU U@l SEPTU TIRHIING Bl &-
Options:

68019157635, &4 (Hue)
68019157636. dHd éjf:[ (Brightless)

68019157637, PIBTI (Dullness)

68019157638. e q

Question Number : 53 Question Id : 68019114853 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Select a figure amongst the answer figures which will continue the same series or
pattern as established by the problem figures.

N
N__/

Options :

68019157639.

68019157640.




68019157641.

A
_

Question Number : 53 Question Id : 68019114853 Question Type : MCQ Option Shuffling : Yes

68019157642.

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR MPfadl ¥ ¥ TP HHId DT 90 B Wl fob THT 31 gRT g=yiiad
UeH Yl SHD! Y&l Dl Fcld TG:

PN
™ < \> ) . ")
™ e . .
N/
e
Options:
680191576309.
68019157640.

68019157641.



68019157642.

Question Number : 54 Question Id : 68019114854 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the true mirror image of the figure amongst the answer figures with
respect to-X-X

X

S

i

x|

Options :

68019157643.

68019157644.

68019157645.



68019157646.

Question Number : 54 Question Id : 68019114854 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

X-X & HaY T 3R S1Ppid O 4 Fgl qUUl (4§ &1 Ug=H &

X

e

S

x/|

Options :

68019157643.

68019157644.

68019157645.



68019157646.

Question Number : 55 Question Id : 68019114855 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

[dentify the mirror image of given word :

PROGRESS !

Options:

68019157647. FROGRESS
68019157648. 25 3A20 A9
68019157649, e23AB0 A9

68019157650. €23RGORAA

Question Number : 55 Question Id : 68019114855 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



feu 7T Irsg & 24U faE ot ggaH @i

I
PROGRESS !

Options :

68019157647. PROGRESS
68019157648. 2S3IAD0CAAY
68019157649. €€ 3RV U AS

68019157650. €2 3RGO AT

Question Number : 56 Question Id : 68019114856 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct mirror image of the given figure along x-y axis :

X

Options :

68019157651.




68019157652.

68019157653.

68019157654.

Question Number : 56 Question Id : 68019114856 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
x-y axis & HIY TP b Tg| gUUT [§7a Bl Ug=aH di:

X

Options :

68019157651.

68019157652.



68019157653.

68019157654.

Question Number : 57 Question Id : 68019114857 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The question figure shows the 3D view of an object. Identify the correct view of
the object looking in the direction of arrow.

A
Options :

68019157655.

68019157656.



68019157657.

68019157658.

Question Number : 57 Question Id : 68019114857 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Uy 3Tl ol 9% 1 3D TR &Wichl 8| AR 1w & =fP77d H=d gu uel
90 & UgdH oy:

A
Options :

68019157655.

68019157656.



68019157657.

68019157658.

Question Number : 58 Question Id : 68019114858 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the true mirror image of the figure amongst the answer figures with
respect to X-X :

i&;

A m

e e e

L

Options :

A =

68019157659, Ik

68019157660.



2
m
=
68019157661, l_fz?’

68019157662.

Question Number : 58 Question Id : 68019114858 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

X-X & gy H IR SA1Pid H I Fl a4V [§76 DI UgarH B

n

N\

[ |
X A
Options :
|
=
68019157659, Ik “r‘\:a\
||
5;“;’
68019157660. I '--///3




P

N

68019157661, I

68019157662.

Question Number : 59 Question Id : 68019114859 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'Kuchipudi' 18 a unique dance from which state ?
Options :

68019157663, Madhya Pradesh

68019157664. Tamil Nadu
68019157665. Kerala

68019157666. Andhra Pradesh

Question Number : 59 Question Id : 68019114859 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
DAY 58 I &1 U SHigadid 7a 82

Options :

68019157663, T¢I UGH]



68019157664, 1 g

68019157665, B

68019157666, 1% WGX]

Question Number : 60 Question Id : 68019114860 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the below given material 1s not a plaster type ?

Options:

68019157667, Gypsum
68019157668. Lime
68019157669, Cement

68019157670. MDF

Question Number : 60 Question Id : 68019114860 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

-t fau U fadedl & 9 i 9 9] @R &1 96R 81 87

Options :

68019157667. STl



68019157668, LI

68019157669, [IHC

68019157670, U4 SI UH

Question Number : 61 Question Id : 68019114861 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who initiated the construction of Qutub-Minar. Delhi?
Options :

68019157671, Muhammad Quli Qutub Shah

68019157672. Muhammad Azam Shah

68019157673, Qutub-Ud-din-Aibak

68019157674, Iltutmish

Question Number : 61 Question Id : 68019114861 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
feeel FRud $aa 9IHR &1 FHai [ sRey e um

Options :

68019157671, Be-a Pl ds e



68019157672, JeH HTeH RMME

68019157673. ?@ﬂ-d%-ﬁ?l{ﬂﬁ?

68019157674. E‘EI* E

Question Number : 62 Question Id : 68019114862 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When is the world Environment Day celebrated?
Options :

68019157675. 5 June

68019157676, 10 July

68019157677. 22 March

68019157678, 15 August

Question Number : 62 Question Id : 68019114862 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fawg qaiavvl fEag oe T 9T 82

Options:

68019157675. 5 L1



68019157676, 10 It :

68019157677, 22 A

68019157678. 15 SI1&d

Question Number : 63 Question Id : 68019114863 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Visual weight 1s associated with :

Options :

68019157679, Emphasis
68019157680. Texture
68019157681. Balance

68019157682. Pattern

Question Number : 63 Question Id : 68019114863 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T2 ao BESEIECES

Options :

68019157679, S (Emphasis)



68019157680, SIXd-I (Texture)

68019157681, V90T (Balance)

68019157682, Tl (Pattern)

Question Number : 64 Question Id : 68019114864 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Lines those branch off of a central point are referred to as :

Options :

68019157683, Rhiythm

68019157684, Repetition

68019157685. Radiation

68019157686, Proportion

Question Number : 64 Question Id : 68019114864 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 514 fog 9 Ba-aral RdT w13 o1 gafiid foan S 6

Options :

68019157683, JHH



68019157684, &lgI

68019157685, [AIBRUT

68019157686. HIHIM

Question Number : 65 Question Id : 68019114865 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

V7 concept of Chandigarh city 1s associated with which architect?
Options:

68019157687. Patric Geddes
68019157688. Le Corbusier
68019157689. Frank O Gehri

68019157690. Zaha Hadid

Question Number : 65 Question Id : 68019114865 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A& TR B V7 Fdheadl [y aRdldg ¥ SeiUd g |

Options:

68019157687. a-i %E

68019157688.



A BIYRR

68019157689, W 311 TI8Y

68019157690. VIIEI 8 EE

Question Number : 66 Question Id : 68019114866 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who 18 known as "Father of contemporary architecture” ?
Options :

68019157691. Le Corbusier

68019157692, Louis Sullivan

68019157693, Frank Gehry

68019157694, Norman Foster

Question Number : 66 Question Id : 68019114866 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fhy AP @ @l Pl o ("Father of contemporary architecture") D
=0 H SIS 82

Options:

68019157691. NE: i DR




68019157692, U=l Tl

68019157693, e 116%

68019157694, ATHT HIRC

Question Number : 67 Question Id : 68019114867 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who designed 'India Gate'?

Options :

68019157695, Edwin Luytens
68019157696, Raj-Rewal

68019157697, George Writtet

68019157698. Norman Foster

Question Number : 67 Question Id : 68019114867 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
=Syl e foaH fEung fobar ur

Options:

68019157695. ES[E' gé N



68019157696, ST ¥dTd

68019157697, 19 Ig C

68019157698, ATHT B

Question Number : 68 Question Id : 68019114868 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following architects has not won the Pritzker prize till 20197

Options :

68019157699. B.V. Doshi
68019157700. I.M. Pie
68019157701. Arata Isozki

68019157702. Moshe Safdie

Question Number : 68 Question Id : 68019114868 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
frafaed & 9 fo argeanfdel = 99 2019 9 [UCER RISR el Siidr 4

Options:

68019157699, S ol &Il




68019157700, 315, TH. T,

68019157701, SIRdI g4I G2

68019157702, HIRI ATHig

Question Number : 69 Question Id : 68019114869 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Terra cotta is a type of earthen work which 1s processed by :
Options :

68019157703, Burning at high temperature

68019157704. h‘IiKﬁlg with lime

68019157705, Compacting with pressure

68019157706, Drying in the Sun

Question Number : 69 Question Id : 68019114869 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
RSB IE] TP YHR P Jal B ¢ ol f &R TR d ST 2

Options :

68019157703, 3= dUHIH U2 Yuwidei-



68019157704, I 9 WY I HH R

68019157705, 4l¥ HY- (Compacting with pressure)

68019157706, 49 H TG

Question Number : 70 Question Id : 68019114870 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which building material 1s primarily used as a building material for the Great wall
of China?

Options :

68019157707. Timber
68019157708. Steel
68019157709. Brick

68019157710. Concrete

Question Number : 70 Question Id : 68019114870 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9iF B e ard (Fafu d SF I STuRYd Yaq el W ol 11 oA

Options:

68019157707, &R



68019157708, ¥Id

68019157709. _5??

68019157710, BIdhec

Question Number : 71 Question Id : 68019114871 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the architectural symbol represented in the given figure.

ﬂ  — 7
: 7t

68019157711. Window

68019157712, Sliding door

68019157713, Revolving door

68019157714, Rolling shutter

Question Number : 71 Question Id : 68019114871 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e €t g st H aRgfied & Ui @f ugaH ok |

TP

68019157711, [as®! (fds)

68019157712, SRIST SR

68019157713, RallcaT SR

68019157714, T TEX

Question Number : 72 Question Id : 68019114872 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Percentage of lime content in ordinary Portland cement 1s
Options :

68019157715. 30% — 40%

68019157716. 40% — 50%

68019157717. 60% — 70%

68019157718, 70% — 80%

Question Number : 72 Question Id : 68019114872 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IR Giccis S B 1 &1 O30 &1 9= 8-

Options :

68019157715, 30% — 40%

68019157716. 40% — 50%

68019157717. 60% — 70%

68019157718, 70% — 80%

Question Number : 73 Question Id : 68019114873 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sill Level 15 associated with

Options :

68019157719. Roof

68019157720. Column

68019157721. Window

68019157722, Staircase

Question Number : 73 Question Id : 68019114873 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
BNEIESEH I 9Eia g
Options :

68019157719. ©d

68019157720, BIaH

68019157721. @E &

68019157722. it (WP 9)

Question Number : 74 Question Id : 68019114874 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the terminology for the vertical portion between each tread of the stairs?
Options:

68019157723. Winder

68019157724. Riser

68019157725, Nosing

68019157726, Going

Question Number : 74 Question Id : 68019114874 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Tifedi & Ud® 9HeH (tread) P &g IIER YT H1 saTdel] 1 67

Options :

68019157723, AIgSX

68019157724, XIg4IX

68019157725, &7

68019157726, TSI

Question Number : 75 Question Id : 68019114875 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The question figure shows the 3D view of an object. Identify the correct view of
the object looking in the direction of arrow :

Options :

68019157727.

68019157728.




68019157729.

68019157730.

Question Number : 75 Question Id : 68019114875 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U= 3{Tepidl el o T 3D TR Tl & | Tk I &= & efP7rd = U Tel
€0 O Je T PR

Options:

68019157727.

68019157728.

68019157729.




68019157730.

Question Number : 76 Question Id : 68019114876 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Complete the number sequence :
1B, 27,38, 50 - v 83
Options :

68019157731. 62
68019157732. 66
68019157733. 64

68019157734. 72

Question Number : 76 Question Id : 68019114876 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR BT ST 0] B

18.27,38.51, ..o, B3
Options :

68019157731. 62



68019157732. 66

68019157733. 64

68019157734. 72

Question Number : 77 Question Id : 68019114877 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the question figure a-3-D object 1s given, Identify the correct top view of the
object amongst the answer figures.

d_f____f “""“-m_q_:-

KT RS -

"-a.:_:_\\\ \\\\ - -_""-\-\.._] _E%
-\-H--\-\-t-\-\'\-\'\l\‘__.o-"- = =

Options :

68019157735.

68019157736. I

68019157737.



68019157738.

Question Number : 77 Question Id : 68019114877 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gwﬁﬁws-mﬁaﬁﬂﬁ%lmaﬂmﬁ%ﬁﬁmﬁw
|

ST T
- {%
™. \\ =, G s
Hx“'h-._,__ .\‘m \"x _'_F.:-"'-Fl._\_\_] "
"'\-\.E\‘_ﬁ_ -
Options:
68019157735.

68019157736.



68019157737. ‘

68019157738.

Question Number : 78 Question Id : 68019114878 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In question figure - 3D object is given. Identify the correct view of the object
looking 1n the direction of the arrow. amongst the answer figures.

Options :

68019157739.



/

68019157740.
68019157741. [
68019157742. ‘

Question Number : 78 Question Id : 68019114878 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

R 3Pl 3D T &g 7Tg o | IR AP adl § 9 dR i (431 8 faarg & 3@
A% & Yol exd B UgdH B

Options :

68019157739.



68019157740.
68019157741.
68019157742. ‘

Question Number : 79 Question Id : 68019114879 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In question figure a 3-D object 1s given. Identify the correct view of the object
looking in the direction of arrow, amongst the answer figures.

Options:

68019157743.




68019157744.

68019157745.

68019157746.

Question Number : 79 Question Id : 68019114879 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR AT 3-D T &2 718 51 SR MGfa § J TR o1 femm & fgang < <
9%] & Hol T¥G Pl g H:

Options :

68019157743.

68019157744.



68019157745.

68019157746.

Question Number : 80 Question Id : 68019114880 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In the question figure a 3-D object is given. Identify the correct top view of the
object amongst the answer figures.

Options :

68019157747.

68019157748.



i

r.

68019157749.

=

68019157750.

Question Number : 80 Question Id : 68019114880 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PRE] 3-D O] M1g 715 o | IR Ml § 1 I D1 Fol 2y €xg Bl
EEEIECEY

Options :

68019157747.

68019157748.



=

68019157749.
68019157750.
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Question Number : 81 Question Id : 68019114881 Question Type : SUBJECTIVE Consider As
Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 50

Draw the sketch of the image given below in detail:

Use monochromatic colour rendering techniques. light and shadow to represent 1ts
depth and mtensity.

Question Number : 81 Question Id : 68019114881 Question Type : SUBJECTIVE Consider As
Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 50
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Question Number : 82 Question Id : 68019114882 Question Type : SUBJECTIVE Consider As
Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 50

Draw G20 Logo with one Alphabet, two numeric. a triangle, a circle. and a
rectangle. Use any 3 colours of your choice

OR

Draw sketch of a road in one point perspective. Imagine the road to be a velucular
road with both side footpath having vendors and hawkers around it. Use colours of
your choice.

Question Number : 82 Question Id : 68019114882 Question Type : SUBJECTIVE Consider As

Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
Correct Marks : 50
U qul, &1 ST P, U HdHI01, U g SR U 31ad & |1y G20 TR a3
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